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a) Ti 6Al 4V is a widely used commercial alloy.  The microstructure is mostly  Ti and appropriate thermomechanical processing requires a good knowledge of the fraction of as a function of T.

1. Using SSOL, calculate the two binaries TiAl and TiV, and compare them with the published binaries (Materials Handbook, for instance).

2. Calculate the phase distribution as a function of temperature for Ti-6Al and for Ti-4V. (step in temperature and plot either BP(*) or NP(*) vs T.)

3. Calculate the phase distribution as a function of temperature for Ti –6V-4Al.

(step in temperature and plot either BP(*) or NP(*) vs T.)

